CLASS SET – DO NOT WRITE ON THIS PAPER
Chapter 22 Critical Thinking Questions
1. What is the difference between external respiration, internal respiration, and cellular respiration?
2. It is below zero outside, but the dedicated runner bundles up and hits the road anyways. “You’re crazy,”  

    shouts a neighbor. “Your lungs will freeze.” Why is the well-meaning neighbor wrong?
3. Why does breathing through the mouth dry out the throat?
4. George Washington went for a walk in the freezing air on a bleak December day in 1799. The next day, he

    had trouble breathing and swallowing. A doctor suggested cutting a hole in the president’s throat so he

    could breathe, but the other doctors voted him down, choosing to bleed the patient, plaster his throat with    

    bran and honey, and place beetles on his legs to produce blisters. Soon, Washington’s voice became

    muffled, his breathing became labored, and he grew restless. For a short time, he seemed euphoric; then,

    he died. Washington had epiglottitis, in which the epiglottis swells to ten times its normal size. How does

    this diagnosis explain his symptoms? Which suggested treatment might have worked?
5. Certain respiratory disorders, such as emphysema, reduce the capacity of the lungs to recoil elastically.

    Which respiratory volumes will this condition affect? Explain the impact on gas exchange.
6. Why is it impossible, under normal circumstances, for a person to hold their breath long enough to pass

    out? 

7. What changes would you expect to occur in the levels of blood oxygen and carbon dioxide in a patient

    who breathes rapidly and deeply for a prolonged time?
8. Assume that you are a second-year nursing student. As your assignment, you are asked to explain how

    each of the following might interfere with a patient’s gas exchange.


a. Iron deficiency that causes a decrease in the number of red blood cells.


b. Cystic fibrosis in which the surfaces of the alveoli become coated with thick, sticky mucus.


c. The patient is a heavy smoker.

9. If a tracheostomy bypasses the upper respiratory passages, how might the air entering the trachea differ

    from air normally passing through this tube? What problems might this cause for the patient?

